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COMMERCE

(Skill Enhancement Course)

Answer the Questions from any one Option.

OPTION-A -
( E-Comméfce )
Paper : COM-SEC-4014
OPTION-B
( E-Fili(g of Returns)
Paper : COM-SEC-4024
Full Marks : 50
Tiﬁe : Two hours

. The figures in the margin indicate
Jull marks for the questions

Answer either in English or in Assamese
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.- Answer any four from the followmg

 OPTION-A
: COM-SEC-4014 .

(E-Commerce) |

. Paper

- E- Commerce refers to

i?mq@m

(@) buying products

R ik |

" (b) - selling services

(¢) " selling products

- A Rt

.’(d)' . All of the above

-Which segment_ focuses on consumers

- dealing with each other ?-

‘Ww&w@aﬁwmm

B ‘»Wc-sewﬁm?

@ cac

) B2B

ORR
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'(iii) |

(iv)

W
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() C2B
- BR
(d) P2P
BT
Electronic cpmmerce can increase sale
and costs.. (Fill in the blank)

‘mﬁmmﬁ@ﬂiﬁﬁqﬁaﬁﬁammm, -

o (Tl 12 770 7)
IP stands for

i 3w TR

(a) Internet Protocol

THIRED R
(b) Internet Programming

TR iR
(¢) Internal Program

W@ﬁqzﬂwﬁ
(d) Intra Program _' '

X |
Internet is owned by
TORGE WA
(a) Microsoft Corporation

TRGH A
(b) Tataplay = -

BiBLCER
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(c) Facebook
TP

(c) © None of the above’

ﬁi@ﬁamem

(vi) E-payment is domg payment
: (Fill in the blank)
ooy tar
. (7] 912 2f<9 1)
(vii) E-marketing provides
TMERDTe 2 I
(a) national coverage
 (b) local coverage
(c) gloﬁal coverage
CNTIR TSNS
(d) None of the above
| sﬂi‘@mﬂmw
(vlu) <BODY> i 1s a tag. _
‘ (Fill in the blank)
~ <BODY> 51 T
(Tt 312 7439 )
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NegeF SRACS 31 AR |

2. Answer any three: 2x3=6
Ricereat fofabra ex ot ¢

(i) What is an e-business model ?
TR e R
() Whatis a digital signature ?
PG TR
(iii) State fevx.r advantages of web add. .
&R Rresa (TR R4 S 39 |
(iv) Define e-wallet.
BB view |
(v) What is cryptography ?
Tt R
* (vi) "What is phishing ?

3.  Write shéft notes on : (any two)
7, ol B s (e 1)

(i) E-commerce revenue model
(i) Basic structure of a HTML page
Bt (2B i AR
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5x2=10




(i) Teehnology used in e-commerce S , WW\ ﬁ”““ﬁﬁ?f’ﬁﬁl\mqﬂ G .
| SR ‘ RS e 39 <=1 '

. . e ' 1 (iv) What is electronic payment system ?
| o 'Onhn’? banmg ‘ - b Describe different methods of electronic
: - GO E e ' payment system. - . . 2+8=10
. (v ITAet2000 - - .i“ca“z‘ﬁasvrﬁmamzﬁ?mﬁ?‘”ﬁw*
. T , . | - ' ATy Riow s1mfSs 3 1| '

i, - w=wigv«g 2000 0 | o
}i : e , ‘ g : - (v) Write about d1fferent factors involved in
(v)) Cryptography | , e-commerce website de31gn |
4. An o : v’ ' 10x3=30 ﬁﬂmm| _
. s - » x3=30 . - .
wer any three o = Y S (vi) Write about different steps and
ﬁmmﬁﬁm%@%m , : S 3 ' techniques for promotmg ‘an
(i) Define lists. Explaun different types of 1 . . e-commerce website. " '
lists used in HTML with one simple - ‘ | &2 @q@ﬁ GBI oI5 ?ﬂ'@ ﬁﬁ.,—.,{ W’i
example. o s=10 i e R ot ,
' 35%' I ’I\@T firat 1 @B et SRS cﬁnc . (vii) Descnbe e-commerce securlty threats.
! o L‘lﬂ«ﬂﬁ-@aﬁﬁ@ﬁﬁﬁm'ﬁﬁﬂﬁ =
| R %ﬁﬁwwwﬁaﬁWr
i)  Write the sahent features of the IT Act o (vuz) Describe the major e- commerce
L : ; 2000. e o : “business models.
‘ 9% @3, 20009 Sjﬁﬂmﬁ‘m Y | me"@a@_ 9 3"/‘"“"
(lii) What is online shopplng ? Explain
different steps involved in the online
shopping process. 2+8=10 | .
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OPTION-B
Paper : COM-SEC-4024
( E-Filing of Returns)
‘Say whether the fOHowing ‘statements . are
- True or False : (any four) 1x4=4

woTs fit Refoomz o& o7 o G 2 (Ricteat
5fa619)

() E-Filing is mandatory for a company.

<! (PSR A E-Filing IO 2 |

(i) Filing of ITR is compulsory if a tax payer

has deposited an amount of Rs. 1 crore
or more in one or more than one current
account.

M G&7 TR (I GBI A ST @]
T oitve ¥ (il 1 oL wfEE Tl T

A, (STCTFTS ITRWW?TW
Rt

(i) A person can hold at least two PAN.
ISR IS &S w8 75 PAN AR I |

(iv) Assessment year is always a penod of
12 months.

e < mig 12 s =)
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(v) For submitting Form 15G, the applicants
must be below 60 years of age. ,
Form 15G & $19 A @GBSI IT7
60 ITI To] 3 i | |

" (vi) IGST is collected by State Government.

GFFS GST ey SIAE FRAXFA |
(vu) 'GST signifies one state many tax.
GST ( % o) LT HiR

(viti) The burden of GST is borne by the
consumer.

GST S @m%ﬂmwmn

Answer any three of the followmg questions : -
2x3=6

AxfEe e miwﬁﬁﬁ?ww S

(@) Whatis ITR—V ?

ITR-V &2

(b) What is digital signature certificate
(DSC) ? - ‘

Digital signature certificate (DSC) f?

" (¢) What do you mean by total income ?

qﬁmqﬁmﬁi@? ,
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@

Explaln bneﬂy about TAN

"TANaﬁﬂmmwwn

.What do you mean by Form 16A ?
' 16A eivig e B ga 2

Write short note on I’I“R—‘l.

~ITR-1 wwwmml

WW%@M (ﬁm‘m‘}jﬁ‘f)

(@)

. Answer the following questions : (any two)
5x2=10

State any Jfive dlfferences between

E- fihng and manual filing of returns.

E-filing W13 Z51fTe 39 @ifemwm mifRe 31

. 'Wwﬁ@m%m@ﬁw

(v)

Mentlon any ﬁve dlsadvantages of .~

- . manual filing of returns.

| W—waﬁ?@mmﬁamwm,
- Ryl SrEd = |

-

# 8em-4/CBCS) SEC 12 (ECoMjEARyG - 10

(©

(@)

(e)

Explain the str"ucfure of PAN. ’

PAN?WWWWI

Who are responsible for deductlng tax

at source ?

TLACS I FOH T MG I GATS o) 1

e

Write a short note oo, G»STR.—'I. =
GSTR-1 7 8~ 53 (Bt ol |

Write the names of any five specified

* financial transactions in ‘which quoting

of PAN is mandatory.

T — am%mw

PAN WWawwwl

Ansvver the followmg questlons (any three)

10x3=30 '

wm%@am (ﬁzasrz-vrf“fﬁ?r)

-~ (a) Mr. Raghab Baruah aged 49 years, is

employed it a'public- sector company.
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‘Dunng the prewous year 2021-22 he
received a basic salary of 21,00, 000 p-m, -

‘dearness allowance 50% of basic salary,

house rent allowance 240,000 p.m. and
special 'allowan_'ce of €10,000 p.mk.

Mr. Baruah resides in a rented house at

- Guwahati and the rent paid by him is
230,000 p.m. He maintains a savings

bank account with HDFC Bank and

during the previous year 2021-22,
%40,000 was credited in his bank

- account as interest.

Dui'ing ’the'previous‘ year, he had paid

%60,000 as life insurance premium and

- %25,000 as medical insurance premium

through net bainking.

Compute his tax liability if Mr. Baruah

opts for old regime.
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(b)

QI AT TR, T 45 T/ D 1 o=

A SRITe TR© | 202 1-22 ARSI IS corTe
T e @ff Wieg 1,00,000 B4, TR IFG

R 50%, 39 ST ©iG1 40,000 5 2ffs -

MR KT ©iF =1tz 10,000 5301 2 | &
W@wﬁwﬁwwaﬁmmaﬁ

3Tz 30,000 B ©rGl ARCANY T | (OTAST

HDFC @%e «ft sikeed o1l s o camar
ARSIF I 2021-22 to'qmw 40,000 B
ol 2 |

(TS R T R 60,000 B S BRbesT.
TR A 25,000 51 (6 @67 it sAReeiy
IEI -

ﬁﬁwwwwlwqﬁw '
AR fRiee =11 '

Write a note on various provisions of the

new tax regime.

A T RPRIZ I R s (e B
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(¢) Explain various types of TDS certiﬁcates ] ‘Write various steps of computat1 on of

-along with their applicability and related | ) | total income.
= prov181ons R : | B TsWﬁW‘TWﬁF‘ﬂ@WTémI
| ffen TDS certiﬁcatesaﬁmwasﬁﬁﬁr | ‘
I IR A awﬁﬁﬂ Rz 39
W R

d) Explam the contents of Form 16. . | | AR
- Form 163W§@Wl . : | N o ‘“
(o) 'Explain various ways of vériﬁcatién of
ITR submitted by an assessee.
ITR et e < R ST 3 71
\ N E{{.piain varioué, ITR;f(l)rms used by

different types of assessees.

ﬁi\ww—ﬁwwﬁfwma exW
R

( What is E-filing ? Mention four
advantages and four limitations of
E-filing. |

E-filing & E-filing I b‘lﬁ?f'ﬁﬁﬁim 57@
ﬁww«n |
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